17. Bf B

(1) FR214F E — i Gk Ak IR HLEE HA7 1
ik N %, tH

Bl H IR HLAR %ﬁj‘zotk Bl H TR %ﬁifh
1 Bi| 7,093,871 21.4| % & 194,977 0.6
2 5 FE 5 Bl 493,885 1.5 ¥R hEs | 3,744,239 11.7
SH 7 AR T & 24,670 0.1 B * #| 7,019,361 22.0
T - v b < 6,795| 0.1 f& e #1 1,880,073 5.9
Bk =X e e T 45 B 22 A & 2,865 0.1 %5 ) # 81,608/ 0.2
6 Hi 5 VY B B A A4 641,967 1.9] B Ak Kk PE 3 | 1,777,067 5.6
T 2V 5 HH B A AT 4 2,922 0.0 P§ T #l 1,350,485 4.2
8 HEhE ES RS 4| 128,465 0.3 1= A Zr| 4,264,525 13.3
9 1 7 K Il AR T 4 101,171 0.3] {4 5 # 1,751,135 5.5
10 # /a2 fF FBil 12,563,391 37.9 G 2| 4,161,362 13.0
11 %83 72 4 b 5 45 11 22+ 4 12,880 0.0 & %= H H & 21,310 0.1
125 & Kk ONAHE 4| 628,730 1.9 A & #| 4,650,104 14.5
13 5 OB B OV 2B 412,522 12| 38 0 H 4| 1,079,926] 3.4
14 ® & X H 4| 4,565,885 13.8] T fi # of 0.0
15 XX W 4| 1,715,699 5.2
6 P I A 78,983 0.2
17 %F i) 4 51,205 0.2
18 A & 4,257 0.0
19 el 4l 993,112 3.0
20 7% ¥ Al 1,129,726| 3.4
21 T & 2,498,000 7.5

a i 33,151,001{ 100.0 & &t 31,976,172| 100.0
XOm AR A FREE 1,174,829 M T =4 T EGE
(2) Fpp=EE A TR - IR BAL : FH

& 3 o4 -2 1A FE R LR SRR 2247 FE XY 4)) T R AR

o N % o A %

+ H i 5 385 385 432 432
B H @ 7 += 123,343 119,999 140,300 140,300
¥ o H 239,568 237,874 236,200 236,200
WA 2 X — 30,780 30,098 33,200 33,200
H o b a7 51,838 51,711 56,600 56,600
T ok E  FE | 5,097,558] 5,072,026| 5,393,000 5,393,000
£ % HE ok == O 1,955,241 1,940,328| 1,268,000 1,268,000
fii % K #E F ¥ 781,550 757,042 658,000 658,000
B o % | 7,264,073] 7,170,075 7,321,000 7,321,000
B R R R 72 R 18,666 18,231 19,900 19,900
% W & kEE K 609,694 605,291 626,900 626,900
¥ A (B i 13,021 9,566 2,500 2,500
o S R Bl 6,102,959| 5,994,974 6,288,000 6,288,000
I #E Y — v R E 75,630 63,879 59,700 59,700

a g 22,364,306| 22,071,479 22,103,732| 22,103,732
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(3) 22N MR A AKE I ) T 5 AL T
%, A i, tH
Bt H R RER %ﬁj‘zott Bt H R RER Tﬁﬁift
1 Bi| 6,737,680| 22.3| % s #| 198,607 0.6
2 # O E 5 Bl 440,500 1.4] ¥& % #| 2,323,893 7.7
R 1 S = vy 17,500 0.1] & A #| 7,829,158 25.9
T Y b 1,700 0.1| * #l 2975,569| 7.5
b kR I T A A2 A e 1,500 0.1 ¥ 18 # 85,345| 0.3
6 Hi 5 VY B B &S {4 625,0000  2.0] B Ak Kk PE ¥ | 1,862,686| 6.2
T N7 G R A BLA AT 4 2,700 0.1| 74 T #| 1,586,258| 5.2
8 HENEEMSRBLA T4 110,000 0.3] L A #| 3,555,399 11.8
9 M1 5 KF I A2 fF 42| 120,000( 0.4| VH 193] #| 1,656,359| 5.5
10# 5 2 £ Fi[11,615,000[ 38.5 5 #| 4,190,639 13.9
11 5858 22 42 % 556 4 B 22 A+ 4 13,000 o.1| % F# H H & 3 0.1
12 3y 4 VA #H 4| 633,371 2.1 & & #| 4,561,633| 15.1
13 1 B & OV FEHoBH 395,083 13| 3 X H & 4,451 0.1
14 [F B X M 4| 2,453,291 8.1 T {i L= 50,000| 0.1
15 X 4| 1,625,669 5.4
6 P I A 60,966 0.2
17 % Bt & 3] 0.1
18 A 4| 655,003 2.1
19 el 4| 200,000 0.6
20 7% ¥ Al 1,278,954| 4.2
21 T &| 3,193,100 10.5
a i 30,180,000{ 100.0 & &t 30,180,000| 100.0
T =4 T EGR
(4) F¥ERE (BAKEFHE) wARNTHE - IREK A7 T
FOE X g ILASHIIN | IS SCHY | BRI | & AH) 3 HY
Rk 21 BE AR 989,793 807,857 393,915 966,458
Rk 224 FE T R AR 966,758 842,685 423,951 1,068,813
T —4 . TR EGE
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